EXHERERL U TTEBRITFEX FHEHAEEIXHHEEE /-G —FHE&E -

KERERS

A G [ O S BE ON LRT S R SRR G o TR 4R B Fr A HLR [ R
BB TR RIER B R A B A K 5y > ZHE ST BT AN H AR IH N A - BiER X
AF B B DL % RO E

TEERECBFEBRERS
FHREREZTHEARAIEYE

R SARNH = H s B E A R B 2R e A K e B M LRI A &
WET I EwSE T F =4l » £ -F-WE=H+ - HFT2imaE %
—VUAER R T e K FE—AENSH P HF L Wk ([ F— AR
K = F—LEHANBE LW ([ - F—EFEWHEl) rES —F—=Fh -
TR AER R FE - REREE FE - LE RS A T EY A S E )
HEZERRRNT

HEW] o ERAERIETE (ERET)
wh B B S\ (FE A L)

RERi:E7E 3 c GEYITT AR H I N R A BB 1A 1303
(TRYNHE S =)

FH A () M EFE-=FWmEns o8 S F-=FLtH—

HE —F—NHEASH=1H:;

2) MoEFE—MERHENS > B _F—WHFELH—
HE “Z—H4ENA=Z1H:;

B) M_EFE—HFEWHEMNS B _F—HFLH—
H£:£~ﬁﬁﬁﬂz+a,

4) B oF—tEWHENS B T —LtHFELH—
HE —F—NLFEASAH=1TH
4 () MoEFE-=FWmEmE o A AR 48,0000C o

ANGIEGE - AR B AL R
HEE A+ H TS

2) HoF-NEH®ENS > 8 H AR%51,0000C
NEIEMHEHE - EHE - B L EmE R R
g A+ B 82w/ AT

3) M_F—-HEWERNE > 8 H ARES5,0005C
PN EE- ﬁﬁ% B N FoA R > HE R
FARE A+ B 82w s A

4) Mo F—LFEWENE & H ARS8,0007C

ANCIEE - AR B LA R
BEE A+ B s TS A

166



EXHERERL U TTEBRITFEX FHEHAEEIXHHEEE /-G —FHE&E -

KERERS

AR E Y T — DU BB R — R BUE K T — N B A A
Y2 2 W) 26 S0 A W R 4 BB o Al 2 N R 5594,0000C (FH & it £9748,000% 00) ~ AR
#:636,0007C (A0 i £1782,000% 70) & A B ¥#660,0007C (F1 %5 it #1774,000% JC) -

By RN W2 2 A0 o e PO M6 R 2 I 2 P SR HE W 7 25 13 VR DI e 2 S P R T
wk JE RSO A AT A R AT T A 4 e

EfAEE LR

HEN - F—-LEHFETWEMAMES  AEE T LE R -F— )4
+ A=+t —HIMEEEUEABEE - LESNA=ZTHIEANMEA > RiE %
— A T e AN 4 [ A 25 e A T i A RO 4 ARG 40 B A B R R N R HR678,0007C (
EINKI[ 1 TT) ~ ANR¥696,00070 (FHEAKI[« 1#E70) S N R¥348,0007C (AHE A AI[ o]
W) e

L AR R AY R =&

MRS AL ERBOR - ERFATES > RE LR 5 5 A
LR BN L o i SRR RO > I OB A AR R B O AR
WERE 5 A 4R F A B SR N A o

EE e s o B i B R N DR 1 s NI e VLU N S e <€ 7
JiE I MEAR A 59 B A A A AR BEAR A3 E BV O o iR IE LB RISE 14A.76(1) (o) > 3%
DR — R KB R B ER Y > C R RSy LA T AT N R
HEAE ~ A7 R B K T A B R E o

REESHER

EH (BB EAATESR RS O OERIEAZHE &R AL H
WA BEB BT () BB E —F -t F - N+ A=+ —H
1k P 4F DA S F — LA N = A H RS T AT A FH B MR Y i 15 B
Je (i) He A s ) 7 — e SE R > B AT a3 A5 S A A R L e s B R 2 o

REREANER

PR N8 2 ()45 0 TR I 22 25 A B 15wk U A AR 4 1 09 11 B — B SE 5 i A rh 4%
TE P SR AGRARGRT S 5 G TR I 2 2 R 5 1 ok 19 B 8 F- 5 B > AR & R e AR S
MR A 4 s KRG BB E —F - EFELK T )FE+ A =+ — B WA
DA B2 =B — LN =4 Bk S8 7 B8 A 9 & KR S 8 T B 45 S ROR
Lo A B 1) REHE R 2
167



